MC-CPU(1)-ICF3LD-052(0) 99/03/04 t7¥v
(3) 99/06/14 E7%7
FREHEY 1-NEREHEER
1454
T RTOGHEI-MNIE 1eyc TET
*Tcyc X, 8MC
*1lcyc MEE S I
H7N—FUa-MIE, 1 EDATATEE
-BE 5127-F17-F 32bit)
2REIREHBLY ARV, 777

LY R84 | bithg Fa&

1 |A 1024 | ;EE LY 24, RO-R15 [ZAMP AT REAME— DLV R4

2 |B 1024 | JEELY R4

3 |C 1024 | JEELY R4

4 |D 1024 | JEELY R4

5 | MOA 1024 | /T MEREFRLY RS

6 | MOB 1024 | /T MEREFRLY RS

7 | M1A 1024 | /T MEREFRLY RS

8 | MIB 1024 | /T MEREFRLY RS

9 |DP 10 | BV MEEERLY 24, DUV 295 1E 9N RIRTH1=-0 DK 104
10 | CF 1| %Y=77%" . (EEHER)

11 | ZF 1| 8739 .DLY 29H% 0 (&= 1, TESTD/SUB MEBIREN =L EFH(E T 4L4R)
12 |1 10 | W=7"%l1EH" 0%

13 | J 10 | W=7"%l1EH" 0%

14 | RO-R15 1024 | T -4V 'A%

15 | PC 9 | 7’89 3Lh790%

16 | RETADR 9 | #7°W—FLA-LDI=HDV5—VT7 N L AR&HK
2-1BELY R4ET ALY ABI DT 485X 1)1

n-F LY'R% — TALY R4 1cyc(BL. 1oyc HIlZT —4LY R4DLY AR EEIETE)
ANY TELY R — ALY RS 1cyc

2-2. X¥xY-739° &t m75Y
CFG+)-77& u I-FDEYMSEZE 1 ELI-CEMERDIY)-ESEEZWMYIAL, £IZBCF &
REEDIT BOLBETEI-OIFIAETNS,
ZF(£'m739)I%. SUB/TESTD MBIRENF=EZDLY AN 0 DEE 1 DIEZEYNL, ThLUSNDE
F 0 DEMNEIMEND,
2-3. LY A41d
LY A8LJ [EN-7HIEHBERLY Z29THY . 0N TN H D LI [THEWIEELA, B-MNTES
EANRLL, IV AITRE. RE. BT NREDN-7FIEEITHELD, LY RITRERDIFH DI
THIEEITHESICEERHREL T LI IZO-NEhZEEENROBNNALTINS,
2-4. 7’09 360904
u I-N5ELE 5127-FNHhop I-VEERTTDTNLAERT %bit DLV Y, DIREEERE. LWV Oh
DWHEERITLTEIVIINENS, DR RB ZHRODIZE[E. p 3-F D bit24-31 0 8bit HY 9bit
[CRHSIREINTI A FLNIVAINE SN D INSVTNLAAND RIS (X, 2 DFEEEFIAT 5o u 1N
D bit 24-31 [T -V AIBBEDIRELRATHAOABEHHERLIMINTIIT -V RIBESE
IS IXFEATELL,B @S TlEy 3-MN D bit23-31 N7 0V FLV8IZtybEhd, ZD1=8 B
BEETINREFTHSIEIATHEATZHEICILEET S,



3. p I-FaaHa—F74—vyb

bito | bitt | bit2 | bit3 bit4 | bits bit |  bit7
H &I IE IR ERIELYS MmEZRAREL)S
bit8 bit9 bit10 bit11 bit12 bit13 biti4 | bitl5
B EIEE INV mEgEy | LLEEE | gEmAmg A7 ALY 24+tL94
bit16 | bitl7 bit18 | bit19 bit20 |  bit21 bit22 bit23
BLY A3l 94 CLY A%tL)4 DLV R4tL94 MMUL MRES
L K e AN | 0 r
bit24 | bit25 | bit26 |  bit27 bit28 | bit29 | bit30 |  bit31
0—-h3 57 -4LY R4E S ANTT BT 4LV AIBE
F K e NN N S s B
bit24 | bit25 | bit26 | bit27 | bit28 | bit29 | bit30 | bit31
HEXTMNLA
i) B en B HF(E. 23-31EIANER TN LAZE RS,
4. p 1-FzE=y)
IH# Z¥29) bit E =S
1 NoP 0-3 0 | NoP
2 =160 1 =160
3 1=1024 2 | 1=1024
4 I<=n 3 | IV RBIZ n(10bit FFEE)DEEKXA
5 J=256 4 | J=256
6 J=512 5 | J=512
7 J=1024 6 | J=1024
8 B(3A'IL) 7 bit23-31 TIREN BTN LAIZH I
9 BZF(3A')) 8 ZF=1 DHE. Rk
10 | BC(HGA'L) 9 CLY 24 bit1023 AY 0 175 45
11 | BI(3A°)L) 10 | =11, [#0 5518
12 | BJGA L) 11 | J=d-1, J#0 BB
13 | BCF(5AIL) 12 | CF=1 MIGFE. NIk
14 | CALL(3AL) 13 | PC % RETADR [ZiBRBEL . 2l
15 | RET 14 | RETADR+1 M7NLAIZY4—Y
16 | END 15 |y I-FM#ET
17 | ADDL=[0,A DIVA] 4-5 0.0 1:A 22E|YEF A
18 | ADDR=[0,B,C,D] 6-7 0:0, 1:B, 2:C, 3.D
19 | SUB / TESTD 8 MMEZDI+)-1Y ; DLY 24D 07 A+
20 |INV 9 ADDR i h& R Er
21 | SEL (X) 10 T AAh LD ANEZ
22 | cmMP 11 LEBUR E R TE . DPAOUNT YT 1ES
23 | MUL 12 FERMEREE. A MNERERERIETE
24 | Rn=A 13 ALY RADRNBZET 3LV A9n FEIZAMNY
25 | A=[SELO,SEL1,SEL2,SEL3] | 14-15 ALY A8 A 71t Y4
26 | B=[SELO,SEL1,SEL2,SEL3] | 16-17 BLY A3 A F1tL94
27 | C=[SELO,SEL1,SEL2,SEL3] | 18-19 CLY A A AtLY4
28 | D=[SELO,SEL1,SEL2] 20-21 DLV A3 A A1tLY4%
29 | mmuL 22 A MNRE
30 | MRES 23 TANEREEELVY 2997
31 | MMUL;MRES 22-23 AN EEFER LI
32 | X=n 24-27 A-N3 BT -4V AIDBEEIRTE




54 3-TYVY
5-1. &E
=
BC=AXC+B
ZEzv)
J=512
MULDO:
ADDL=A;ADDR=B;MUL;B=SEL1;C=SEL1;BJ(MULO)
ADDL=A;ADDR=B;MUL;B=SEL1;C=SEL1
5-2. RE
=
BC=BC = D
A =BC modD
ZEzv)
J=1024;A=SEL1
DIVO:
ADDL=DIVA;ADDR=D;CMP;SUB;INV;A=SEL3;B=SEL3;C=SEL3;BJ(DIVO0)
ADDL=DIVA;ADDR=D;CMP;SUB;INV:A=SEL3;B=SEL3;C=SEL3
5-3. BREER2 BHT-R)
=
R3 = RO R mod R2
g Vi
1=1024;:X=0
SEL (X);D=SEL2
CALL(POWERSUB)
NOP
END (0)
POWERSUB:
ADDL=0;ADDR=0;SUB;A=SEL1
RO=A;X=2
ZLBLO:
SEL (X); C=SEL2;
ADDL=0;ADDR=C;B=SEL 1
BC(ZLBL1);ADDL=0;ADDR=B;A=SEL 1
R2=A
J=512:ADDL=0:ADDR=0:B=SEL2:X=0
SEL (X); A=SEL1;X=1
SEL (X); C=SEL2
ZMULO:
ADDL=A;ADDR=B;MUL;B=SEL1;C=SEL1;BJ(ZMULO)
ADDL=A;ADDR=B;:MUL;B=SEL1;C=SEL1
J=1024:ADDL=0:ADDR=0;A=SEL1
ZDIVO:
ADDL=DIVA;ADDR=D;CMP;SUB;INV:A=SEL3;B=SEL3;C=SEL3;BJ(ZDIVO0)
ADDL=DIVA;ADDR=D;CMP;SUB:INV:A=SEL3;B=SEL3;C=SEL3
RO=A
ZLBL1:
J=512;ADDL=0;ADDR=0;B=SEL2;X=1
SEL (X):A=SEL1:C=SEL2
ZMUL1:
ADDL=A;ADDR=B;MUL;B=SEL1;C=SEL1;BJ(ZMUL1)
ADDL=A;ADDR=B;:MUL;B=SEL1;C=SEL1
J=1024:ADDL=0:ADDR=0:A=SEL1
ZDIV1:
ADDL=DIVA;ADDR=D;CMP;SUB;INV;A=SEL3;B=SEL3;C=SEL3;BJ(ZDIV1);
ADDL=DIVA;ADDR=D;CMP;SUB:INV:A=SEL3;B=SEL3;C=SEL3
R1=A:ADDL=0;ADDR=0;B=SEL2;
BI(ZLBLO)
X=2;
RET
NOP




5-4. FIRBER2 FHT-2)
AMNRETRAV-REIRERE
=
R3 = RO ®" mod R2

—E2y)
A=SEL1;C=SEL2;X=0
SEL (X);D=SEL2;X=1
SEL (X);B=SEL2;J=1024

ADIVO:
ADDL=DIVA;ADDR=D;CMP;SUB;INV;A=SEL3;B=SEL3;C=SEL3;BJ(ADIVO)
ADDL=DIVA;ADDR=D;CMP;SUB;INV;A=SEL3;B=SEL3;C=SEL3
R1=A;SUB;B=SEL2
A=SEL1;C=SEL2;J=1024

ADIVT:
ADDL=DIVA;ADDR=D;CMP;SUB;INV;A=SEL3;B=SEL3;C=SEL3;BJ(ADIV1)
ADDL=DIVA;ADDR=D;CMP;SUB;INV;A=SEL3;B=SEL3;C=SEL3;X=0
SEL (X);B=SEL2;X=2
SEL (X);C=SEL2;1=1024;X=1
SEL (X);D=SEL2;J=256;XCOUNT;MRES

### main loop ###

ALBL1:
XCOUNT;MMUL;BJ(ALBL1)
XCOUNT;MMUL
MMUL;MRES;MUL;D=SEL1;A=SEL1
CMP;SUB;INV;ADDL=A;ADDR=B;A=SEL1;BC(ALBL2)
D=SEL1;ADDL=0;ADDR=D;A=SEL1
MMUL;MRES;A=SEL1
CMP;SUB;INV;ADDL=A;ADDR=B;A=SEL1
RO=A

ALBL2:
BI(ALBL1);MRES
C=SEL1;J=256;XCOUNT
NOP
J=256;XCOUNT;SUB;D=SEL2;MRES

ALBL3:
XCOUNT;MMUL;BJ(ALBL3)
XCOUNT;MMUL
MMUL;MRES;A=SELT;
CMP;SUB;INV;ADDL=A;ADDR=B;A=SEL1
RO=A
END (0)



